Aanzicht: Standard Axo 2'

10.5mx5.5m

Marnix

20-043




Aanzicht: Standard Axo 3'

20-043

Marnix

10.5mx5.5m




Aanzicht: Standard Axo'

20-043

Marnix

10.5mx5.5m




Aanzicht: Standard Axo 4'

10.5mx5.5m

Marnix

20-043




31 31

31 31

24 27
22 22

Aanzicht: X'

20-043 Marnix 10.5mxbh.hm




Aanzicht: -X'

20-043

Marnix

10.5mx5.5m




18 7| Bl
9 9I 9 9 9 9 9 9 9 9 9 9 I9I |
37 37 37| |
8 8 8 8 8
— 3 : '30 30
O
3T X ]
33 33 33
2 2
A | s U 14 ] _ a 12 a 36
N O 5 5 5 & O 5 O 5 b o i | o
17 11 =
SN = 5§ &2 O S
31 31 31 31
31 31
S
N S
=
27 25 26 22 23

Aanzicht: Y'

20-043

Marnix

10.5mx5.5m




19 I\'\. — 20
| — 18
9 9 9 9 9 9 ] | ]
37 | 37
8 | o
3
| i 33
2
36 — ]
- 4 ] ] - L N N uilly
10 2
N Y o .Y
31 Y / 31
31 S
21 . | |

Aanzicht: -Y'

20-043

Marnix

10.5mx5.5m




Aanzicht: Z'

] ] ] ] [ 12 14 ]
11 N
33 33
2
4 — 7 —
3 I
1]

g g g g g? 9 9 9 9 9 9 9 9 9
| | n 18 7 1| | | 19 | | ™ 20 | | Hpmil
8 8 8 8 g 9 9 9 9 9 9 |9I 9

35 34
3 38 | L |
5 6
2
33 33 33
10
13 15 ]

20-043 Marnix

10.5mx5.5m




180 2640 180,180
2 26 31
23 31 & = 31,22
™
3
S
™
21 31 8 3122
= m

20-043

3480 180 3480 180

e=mr— 31,25 31 qmmy == 3127
™
™
e=or— 31,2 31 qmy e=mr— 31,24

Marnix 10.5mxbh.hm




